SIDE 2 BANISTER

BOSTON

INSTRUCTION / MONTAGEANLEITUNG
AT OF DOLLE GRoUP INSTRUKTION / INSTRUCCION / INSTRUKCJA




S [11]12]13
1 [11]13]13

K2-1077025 RAL 7016
K2-1077026 RAL 9005
K2-1077027 Pearl grey
K2-1077028 RAL 9016

S [11]12]13
1 |e]7]7

K2-1077125 RAL 7016
K2-1077126 RAL 9005
K2-1077127 Pearl grey
K2-1077128 RAL 9016

@)

X2

K1-1077150 RAL 7016
K1-1077151 RAL 9005
K1-1077152 Pearl grey
K1-1077153 RAL 9016

@

0

x 1

K2-1077030 RAL 7016
K2-1077031 RAL 9005
K2-1077032 Pearl grey
K2-1077033 RAL 9016

L1 [12]13
X2 1 | 24|28 |28
K3-08041 K1-04041
x 8 /
K1-40296 Black / Schwarz / Noir / Sort x 8
K1-40396 White / Weiss / Blanc / Hvid K1-14939
@ @40 1125 ‘
| ' |
| VY, |
X3 /) ’)
K1-40200 Beech /Buche / Hétre / Bag
- Oak / Eiche / Chene / Eg
06 1125

DL

Uu___ v

S [11[12]13
K1-14076 1 |12 |16 | 16
. (40) (40) (45)
112713
16|77 M/ =/ U
K1-1077130 RAL 7016 L [11]12]13 L T11]12]13 L T11]12]13
K1-1077131 RAL 9005 X2 1 [22]26]26 1[22]26]26] © 1]6|7]7
K1-1077132 Pearl grey K3-08002 K3-06130 K3-05056 K3-05011
K1-1077133 RAL 9016 28 x 40 @6 x 30 TX30 M6 x 5 M5 x 20
Strong glue
Superkleber @ @
Seconde lijm
Collef_orte LL‘ 11112113 ﬁ
Superim 1 |14] 16|16
(@ K3-06022 FZB/BZP W[ 11]12]13 [11]12]13
x2 K3-10226 RAL 7016 1jejri7 1]24]28|28
K3-06027 x 1 X1 K3-10405 RAL 9005 K3-02101 © K1-04040
o5x507x25 (@)  |K3-90001 K1-23345 05 x 35 TX25 M5 x 25 M6 x16

dolle.com | Page 2 of 10




&

Tools not included!
Werkzeuge nicht enthalten!
Gereedschap niet inbegrepen!
Outils non inclus!

Veerktgj ikke inkluderet!

//
4

TX25
TX30
PH/PZ

2,5 mm
3 mm
4 mm




Max
335mm

Max
335mm

o
o
A
o
lof
o
F lo|
L lo|
lo|
e e

dolle.com | Page 4 of 10




dolle.com | Page 5 of 10




e,

2X @ 4mm ¥ 25mm

2X @ 4mm ¥ 25mm

dolle.com | Page 6 of 10



60 - 100mm

60 - 100mm

dolle.com | Page 7 of 10




O
G @

0

@ 12mm ¥ 25mm

Yo W

4

=
—9

(&4




13

1125mm

1125mm

—

50mm

50mm |

dolle.com | Page 9 of 10




dolle.com | Page 10 of 10



